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24055  TITIH R T D ITHILH B 9S4 I T AR | 3R | BATH |2im BUET BT HEAT 1182|851 I
525005  WEIT)I| F BFIE0 AT S5 A I T AN 064 A | ALE |s18n TEy B BRI LT 6,916 5 1 1045
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5542005 VEIAT) 9611311 5455 4 17 T BT | w065 n | LATH = Ty s BE RET 5,078| 43 DL
542065 T AU T B S R T KI f06 4 A | BALE |=1ln FEy s EaY ) R 8,055| 43 I
542085 T/ IMILFT 1 BB A SR A IR T BRI | w8 R | BATH | TEy 2B AR 2,595| 453 ML
5422158 VeI ERI ) 9SS IR T AT | w6 s A | BATH |Flm Ty s MT AL 14,172| 5 3 0
542228 || )T 9 IR T AT 088 | BATH | TE /BT 2824|453 1L
542235 W1 = 851131 96 A T KO 064 A | ALE |s5n Tmy BT GRT L 18,406| % 3 U5
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542245 V|| A ) 9 IR T AN 064 A | ALE |o06n TEy /BT BT BT 12,796| % 3 D045
542257 @) B EE) IR EE IR TF fgg 37 H | EATHE [L=13m 7oy /T AL AT 3,490 & 3 DU
542265  VET)1| FBFIEO )1 S5 A I T AN 064 A | ALE |mam TEy /BT BT HEEL 14,072| % 3 0
542275 M| FBFIEO A7) S A I T BRI | w8 R | BATH |miam Ty /M AT 3,033 %300
54228 I AN ST | 9 IR T el | #0850 | EALE ke TE 2B s812| S L
542394 B TIBJRAE R K EE B TE Eﬁm e rH | BARTHE |L=58.5m 7oy /L fEAET HEKT 10,944 55 3 D=4
42415 TR RS SR S IE T BT s 8 | SALE s Ty /BT BET s U— b 1,995 % 3 I
542425 TR AU TP B 9SS I T B 3 | BALE 21m TEo /BT AT Favs)— b 2,562| 43 ML
542435 THIE AR RE K K EAE I T ﬁﬁ? 37 H | BARLE |L=15.5m 7oy 7L HkL 4,969 55 3 PUH
HA2005 T R R SR N T AT | w93 | EATH A1l Ty ME MAT 4615|453 ML
42455 THiEFESF EAER K EE IR TE E?&ﬁm ¥3xrH | EATE [L=1lm 7oy 7FEL 2,347 553U
550155 LRI LARHE ) 1| 9¢ 8 1 T AT 6, 7 | AT 220850 Ty RL BT AT GRET 10,430 %53 0k
550165 Wi 7T | 9SS 1R T AT | w6 s A | EATH | =)< hRET 0,418 % 3 10450
50175 WA L)1 565 1 T AT | w9y | BATH Al FEy /BT WAT 4,003 453 ML
50185 Wi B3 001 975 461 T BT g6 | BATH [F1an Ty 2BT AT 5,586 45 3 DU
550195 WIS )1 5 1H T B W8 s R | SALF |sen Ty /BT BT AR 2427|453 1L
550205 VeI YA 9T S 55 7 IR T K| 06, A | TALE =258 Tmy /BT BET AR 6,518 % 3
550215 VI Ve 1) 7)1 5 1F T RV 65 A | LALF |8n Tmy BT ML 20,137| 4 3 I
5502258 WA PE) ) 9 IR T BB | 9670 | EATH =5 Smy 2L AT AR 15,884 %53 U
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550245 Wi FBFIEO AT S5 A IR T S | 08 | BATH | TEy s 2,565| &3 I
S550265 LRI 1| 96 1 T AT e | LATH [F10.2 TEy /B 6,576 45 3 U045
9502855 MEEI 11/ 1 S0 I T AT | w651 | LATH |0 Ty 2B R 22,806 £ 3 DL
50335 B L OBRER K EEE T Kﬁkg 3, H | EATHE |L=lom 7oy 7T fEAT 4,641 55 3 TU-H
H50345 AR IEAERS S E AN T AL | w6 | ATE 2l Ty /BT BT 13,564 45 3 PHH
550355 i AR U I 9B N T BT 0678 | £ATH |=8m 70y /BT BET MAT 12,881 45 3 I
950305 MEEI 11/ 1 S0 I T AT | w658 | LATH |0 Ty /BT AR 32,432 453 D0
550405 LRI IAI4)1 1) 1| 9¢ 2 1 T A | #e s | ATE e TE Y SR 14,014| %3 0
50415 M| T | 9 IR T AT | w658 | AT |6 TE s IR 20,600 5 3 P
550435 VT IR 1| S5 4 1 T AR | 6, A | EATH |20 Ty 2B BT 0,425\ 45 3 Uk
50445 VT R 9 IR T PR | w3 | LATH |Fl2a Ty 2B 4205|453 I
50465 Tt R AR 4 I T BT e | AT | Ty BT 16,604| 53 04
555309 M) 9 IR T AT 6y A | TALE |5 TRy /BT RRL WAL T 15,340| % 3 U5
555315 I AR 1)) S8 1R 5 %ﬁ? 3y H | EALE [L=6m 7 m v 7T 3,312 & 3 PU-H
555325 MmN 2K 9 IR T BT 06 | BATH [Fn Ty 2BT RAT 6,319| 453 I
555335 WBITIBE I K S I 545 A 1A T AT e | LATHE [Fen Ty 2RI RAT 7,880| 453 ML
555345 M| K ST 9 IR T BTl 08 | BATH [ TRy /@I LT 3,061 %3 00
555355 MBI K 113971 9S50 1 T A | 6 s A | EATH |65 in TEy 2B BT 22,499| 55 3 I3
555365 M| K ST 9 IR T AT | 6 s A | LATH st Ty 2RI R 30,877| 45 3 DU
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555375 M| B ) 9 IR T BT 081 | BATH [ TRy 2L LT 3,805| 453 I
5553875 IR 1|2 H) 1 S INA) )1 S48 1R g ﬁfﬁ? ¥16 45 H | EATEH [L=51.4m E=> 27 U — T HEEET 5,846 5 3 MU
555395 W11 % )1 S E IR T AT | #0670 | LATH |=66.50 7y /BL BT 11,953 5 3 IHH0
B5500% B K S 9 IR T AT e n | LATH (6T Ty 2RI AT 21,562| %5 3 P
55415 VB K ST 9 IR T BT 6 | BATH | TEy R 5,203| 453 1L
5554275 LI 2 E) A1 SR 1R TE Kjfjf 647 H | BATH [L=27.5m 7wy /T AT 7,588 5 3 MU
H5544 5 WG 311301 SR IR T AT 9850 | LATH 640 T E /BT 2102|453 I
55455 Hmi |G S )1 S A T BT 350 | BATH |Flm Ty s MT RET 2,262| %53 04
55465 M) =01 B AL T BT 96 58 | LA [Flen TE Y 2 M AR 5,370| 53
FI5ATS AT )13 1| S IR T AT | w96, A | kT [T Ty BT 13,501 %3 W
55549 M|/ ERI T 9SS IR T BTl e | BATH |m2m Ty BT 13,662| %53 DU
5555075 I R AR I 18 1R 5 ﬁﬁ? ¥3xrH | BEARTE [L=18.Tm o v /FET  HRFE 4,958 3 MU
H5555155  MEIN 11/ 1 S I T AT | w658 | LATH |26 Tmy 2RI AT 15,749| 5 3 DL
355624 TTIE NN HURIE I K EE IR T K}J?g ¥6 s, A | BARTEHE |L=59.5m 7wy s MEAT HET 29,481 53U
5555637 THIETR H B = i B S AR 10 T iﬁ&ﬁm ¥6»H | BARTHE [L=12.5m AEAET BH#EM T HePk T 12,548 %5 3 PU-Hy
5556575 i LB/ NERE R K EE IR T ﬁﬁ? e rH | EATHE [L=19m 7oy 7T 16,399 5 3 DU -4
555665 1T/ B SR P T B | 3,0 | £ATH =205 SRy ML HEv s U— b HEET 4 5aa|  3 IE
H556TH A B S P T R 0670 | LATH |6t 70y /BT GET 24,005| 453 I
565704 B HUPE M VR B S AR IR T ;ﬁ/?jf 6, A | BARTHE |L=23.5m 7wy LT AEAET HERET 14,240 %5 3 PU-Hy
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H55T2E AT P SR R T AT | 651 | LATH |- Ty /B BT 7,067 43 I
SSETAR T S AN S AT T AT e | AT S0 FE o 2 RT BT 20,846 3 10
55755 I R S R T MW 6, 0 | ALE |226n Fmy s BL WAL Bav 20— R 14,641 45 3 Ip
5576 B AR S IR T BT | w96 5 A | BATH |2 T RHET HEEKT AT 24,143 453 10kH
WESTTE A B SR AN T BT 6 | LATHE [T WAT S RET RMHT KEH TR 45,654 %3 10k
55785 i TR SR A I T A | W6, A | LATH L6 TEy /BT T 7,064| 453 ML
55795 NI N B S I T BT e | AT |-l KA TR 5,022| 453 00k
KER RHKEE

)Pk 555 2 it 5 2 T AT warn | A (55 om0 R, LB 1, 231|  42 pk
FO0F - AR B AP I T JORL | s o | K AT LSRRG, AR 7,337 42 e
T ICTEAGR G ERE T ﬁgﬁ? K3rA | BELE [EFREKL 2 Y7 br— 9 ¢ 150m 1 2,660 55 3 DU-H
A AA S T T = — T 1 TR SR | s s R | SATH % h-UT s L - BAMEE EMATR90k 5,873 42 I
[EE 31458 B o L TERITE 9 BlKE ZpEmis T iﬁ&ﬁm #1577 H & IE |UPPE ¢ 150mm L=359. Im, HPPE ¢ 50mm L=19. 1m 14,482| %5 2 P01
b BT - i T - AT KA B L ﬁ%ﬁ? 57 H BT |HPPE¢ 75mm L=242m, HPPE ¢ 50mm L=118m, #5/KEEIRET 36807 15,398| 5 2 PU-H)
B E BRI AKEMRE LHE ;ﬁﬁ&ﬁm #1377 H % TZ |HPPE ¢ 100mm (SDP ¢ 200mm)  L=22m, HPPE ¢ 100mm L=18m 5,059 % 3 PU-i
OMXr BB=E - BEE

PRI TR T IR | s n | s | o, ReddEs 6,428| 4 2 DU
OMXAT gk EE

530310 KB E#R ERKEEIBLF Dg@? Kar A | EATH [(EIBIEREL=13. 5m 2v/)-}7 ny/FE (Bav10cm) A=28m2 2,910  Z 11440
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371105 MR B SEEE IR L Dg%m KarH | BEATE |EIFIERL=6. 0m 27)-}7" ny/f& (#75cm) A=37m2 6,632 51 P
BE143T i1 =PI n) ISR EAR 1R L DQ%ET KarA | BEATE [EIFILEEL=14. 0m 3/7)-}7" ny/FE (#£50cm) A=39m2 4,489 E 1 DU-H
24705 @1 S AR IS ER B L D?ggkw K57 A | EATHE (EIHIERL=23. 0m 2/7)-}7" vy /48 (#450cm) A=76m2 10,998|  Z 1IU-H)
2471551 AR n) ISR EAR 1R L ':ggkm K57 A | BATE [EIFIEREL=24. In 3/7)-}7" 0y /5 (#£50cm) A=T4m2 9,469| 5 1 M40
B 14385531 SN IR ER IR T Dg@? ¥arH | BEATE |[EIRIEEL=19. 0m 2v7)=}7" ny/FE (F£50cm) A=62m2 5,782 E5 1 DUl
247255 @)1 S IS ER 1B T Dg%w K47 A | EATE [EIFIEREL=8. 5m 2/7)-}7" ny/f# (%60cm) A=40m2 6,824  Z5 1 IH-
5301455 d@ i1 AN IS ER IR L ,?IEE?; K47 A | BATE EIFIERL=S8. 5m 3/7)=}7" vy)5H (%60cm) A=31m2 4,816  ZF 1 DU
555548 - @i 11 BRI I EEE IR TF Dg%w K47 A | BEATE [EIFIEREL=10. 0m 3/7)-}7" ny/FE (#£50cm) A=43m2 7,725 51 D0
R higiREE

FRF 1 XPfTF @%’E K1yl | BELE TR F I XRMLHE 2,266 53 JU-I
%)2458%%@m“Ijtwllmmﬁé%@mI$ (Frt %ﬁg ¥er A | EAIHE |27 V—r7ay 7T L=9.0m 2,451 1 T9H]
%)2457%%&@Wllﬁi&MJlliﬂJllﬁé%ﬁ@:lEI% (Frtke ?gg w6, i | tATHE 2o sV rTmy s T 18 5m o as2| 1 e
%2986%%@W”%E}J”m}”ﬁé%@ml$ (P A2 :'%’;?];E ¥er A | EAIHE |27V —r7ry 7T L=48.2nm 12,723 &1 U
izﬁg37%ﬁﬁ?%ﬁﬂqiﬁaﬁﬁ%ﬁé%@[ﬁi$ ki E’gﬁgg KerH | EATHE |27 —=b7uy 7T L= 8.0n 1,165 551 DU
%)2985%%@m“'jtwllmmﬁé%@'ﬁI$ GERE %ﬁg ¥er A | EAITH |27V —r7ry 7T L=13.0m 3,406 51 MU
%%%)2460%%?@%EUll%ﬁ@)ll%ﬁwlﬁé%@laI$ (AfRE Eﬁg w6 i | tATH 2o sV rTmy s T 129.0m 3607 51 e
?%?459%%@@)!w%@ﬁmmmﬁé%@laz$ GRAE %;E PPN I P
%)2984%%@@)ll%)ﬁ)ll%ﬁ)llﬁé%@laI$ (— AR S%jgﬁ 6y, | 1kTHE |2 sV —FTrY s T 116, 0n 5.650| 1
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115 R ) S L (6 FEE 61 | okt |2 0=k T L P R
%1216%%@@“'qjﬁ?ﬁjlliﬂjllﬁé%@'HI% Gakins :'%’;gﬁ KerH | LATHE 2027V = 7 my 7T L=44.8n 7,614)  H 19
T KB RITERA Ao G | o | g (2 )y by s 1 15, 0n PR R
KR EHEKEE

R T BRI s n | TR Lok 7 4310 52 e
FEEFZFr  HugiRE=E

047558 B EHE IH T % %T;}g ¥o2rA | EAIE |LIs12m =27 UV —F7 oy 78 32m 4,200 %52 DU
S24TTH HERNTIII Y )IIT)1| S T LR | 88 | ATE [m16m =y U= b TE 2R Sent 8,300 42 DH
530155 MBI 1 B 7)1| S5 46 1R Te AR | s A | BATH [F18m 22 s U — bRy 28 260 6,300 51 103
530165 MBI A7) S 4 1P T LR | w40 | BALE [3Tm =y s U= TEy 28 108 15,400 45 1 DU
30178 HERWJIE O IS EHE IH TH %Tﬁ?g ¥o5rH | EAIEHE |L=63m =27 V—r7ov 78 190m 24,000| 51 DU
H3TI08 W) S I T LR | #0200 | BALH [Fm =22 U= bT Ry o8 un 8,800 451 DUt
37205 MBI FERA) )1 SCE IR T LI | #9500 | ATH sem =22 U~ TRy 28 202 19,2000 45 1 D0
H1/200% R RHESC AL T LR | #0248 | BALE [mlom =y 2 Y=k Tay 28 sof 2,270 51 D
$52/210%  FRIEH LRI ¢ I TR LI | w8 A | BATH [som 7 hon S asm 6,000 %51 P
#53/210%5  HLFME KM EE IR T ;EEE #¥2rH | EAIE [L=26m 7 b= 256m 2,160 &5 1 UM
H5/210% R TR M S IR T LI | w200 | LATE [Fm =22 U—bT Ry 28 Lo 2,210] 51 MU
#56/210%5  FLFNH R EE IR T ;EEE ¥2rH | EAIE [L=16m 7 b= 32m 2,210 &5 1 U
H7/210% LRI M S 5 IR T LI | w200 | LATHE [F3m =522 U—bT Ry 28 Toi 2,220 %5 1 MU
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510/210% R B S S I T RS | 9850 | BALH [mlom =2V —bT Ry o8 s 4,350 1004
5#5002/210%  EEFn—AAR4 5B B SCEE A L9 %T;}g ¥13»H | EATH [L=18m =27 V—br7nv s 2500 3,800 &1 MU
5003/210%  HAVE ALK 5 47 LH LR | 08y n | bALH [2im 222 U= b TE 28 6t 4,690 55 1 U
5%55004/210%5  BeFn L) 158 B K EE 10 T3 %ngg W3rH | LATE [l=19m HFF: 106m 4,770 551 DU
$#55301/210%5  FEANHRR/KES B IR T8 tggﬁm ¥2r A | EATE|[L=Tm 7 bhrA= 24im 2,630 &5 1 DU
5%55304/210%5 RN RKHOKEE K EE IH 9 tilf;? #W2rH | HALE [L<6m =7 U—r7ov 78 13nd 2,290 51 MU
555305/2105  FRANE S KIS KRR IR T gﬁ“{g F2r A | EARITE |L=22m  KEAZRE 22m 2,500 51 YA
$#55306/210%  HLAIfE /KR S FHE IR 5 %ngg #W2rH | HARLE [L=Tm =227 UV—b7oyv 78 190 3,130 &5 1 DU-H
H5307/210%  HRA KB S N T8 LR | #0848 | BALE |sm av s U= bTEy s 4ot 4,330 5 LI
H#55801/210%  HEANVKR LATE L EHEE IR TH %T;}g 2 H | EATH [L=1I0om =227V —F7 ooy 7 9nd 3,500 51 MU
BEXH RB=E-HE=E

R LR AR RIS R ORI Sl Lo G | K96 001 | BT | CARARG R ORI O FEAREE, BERL Rl 47,223 %5 2 0
LR BRI RIS R T @I | 2,8 | BRTE [KSUTH D L E DB~ 0B 5,606 451 PO
FEIRT TR BUINERED K S o 2 —hefls Lo R | 2rn | R | EMT@R oy —ORE B ¢y 2 — ORI 1631 2 e
R S B P REPC B o 7 =1 L R T FBL | w2sn | BETE o= 2k 2,488| 2 ML
BHEXA MEiREE

HE1T8TE B )1 S5 4R T KT | w650 | LATE [l0.0n =27 U — b0y 2§23, 0 2,500 4t
555178855 53T B3 1131|962 1 T BB | 6,1 | £ATH [=20.00 222 )= h 78y 2 7. Ond 6,000 5D
H51789°5 LI IBIEL 1)1 525 4 1A T KT | w650 | LATH [L8.0n =22 U= b0y 2 fi22. 0 3,000 I
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S51790 5 WE3ERiT 3687|711 968 1A T3 BB | 0650 | £ALH |22 322 U — 75 5 2 R129. Onf 13,000 45
17915 eI IS0 5646 I T KT | 9650 | LATH [lt.on =22 U= b0y 2 610,00 2,000 DUk
S51792 5 W3R TS| 92 1H T BRI | #0650 | ALH |mton 22270178y ZHILoni 2,000 ki
S51793 5 e F AT 1| 967 I L {;Egg @6y, A | FATHE [1=7.0n 222V — k71w 215 0nd 2,000| 5P
HEoATS S Wi )| T 1| 95 I T BIW | wern | LATH |22 522 0 b7y 2 548, 0nd 6,000 5Dt
H52479%5% eI AT S B4 IF T *‘%giﬁ €64, A | £ATHE [1=13.5n =27 U — k7w 2 f33. 00t 4,500
52480 8 WS 1| S ) AT 1| 968 1A T3 BEW | w6 s A | ATH |56.60 =2 ) — b7 my 214 onf 2,000 5500 g
248155 B 2/ 1T 1| 585 4 I 0 KB | #9678 | TATH [18.0n =27 ) — 75y 215, 0nd 3,500 45 I
52482 8 WS 1| S AT 1| ¢ 1A T BEW | w6rn | ATH 2050 =2y — b7y 22 onf 3,500 4
452483 eI )11 S8 EAE I T @%ﬁ ©W6 5B | FATH [L=14.5n =2 U — h 71w 2 25, Ond 3,500 4 DUk
524848 MR T4 | AT 1| 56 8 1A T BEW | w67 R | LATH 516,00 =22 U — 75 5 2 736, 0ni 5,500 45—k
452485 5 I AR D411 55548 10 T @%ﬁ ©W6 5B | FATE [l=4.0n =22V —F7 1y 25410, 0nd 2,500 DU
524865 MBI 2400 T4 |11 56 48 1A T RO | w658 | ATH =100 22270178y 2 R19. 0nf 3,000 4kt
SE248T B LI )RR UL 1T )1] 5578 11 Tk KT | w650 | LATH [l5.0n =227 U= b0y 2 610,00 2,500  #— DUk
11865 THIEARME KA HRIE I SEME 1A T f;%g ¥erA | BARLHE|L=7.0m =27 VU — 7 a2y 730,00t 4,000 5 PUEHA
R A AR I T RO | w6, | fATH |m1Lon B, Oni 0,500 &p0s
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